AR
B

95
- #B s gd

6

Bad®x® 108 SEgALHEEERRE
, M 95
£ | Rz# | ®

(1) [20%] KA STIR ﬂﬁﬂ)] 2 ¢ % R, &9 F ¥ (Reynolds number)
EHUBAGERBUAR BRI ERHRARLGEA -

(2) [30%)] W THAXERARH S FeyaTHEHE
(Bernoulli's principle) $ RAE/T— M F LARA -
ou

1
~— +(d-V)i=-—VP - ¢
37 ( ) S g

(3) [20%)] M fEAH A A4 B (curl) ~ &K (vorticity) iR R 4z %
(potential vorticity) - |

() [30%] W FTRAFZIESR * ASZHMARRN  ARESTHA
1m(%A 1) ~ 1.5m(EM 2) ~2m(RM 3) » ML FHHBL 1.0
0.9~ 0.8 KRK:

(@) ZRRMBRA2Z0# (TRETE > BREHWRES 10

m/s?)
(b) HEBRALRE(Am)ZMRSY (&)
___________ V.
_____ A1 (S=0.8)
Z A2 (S=0.9)
M3 (5=1.0)

AR LY




